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Question Number : 1 Question Id : 9032013804 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Trilobites first appeared during the Period
[BS°BSen TwSS F0 S adorfos® EQ)omeaw
Options :

Cambrian

|« So@0HS

Ordovician

BB ONTHS
2. e =

Jurassic

- B,
swvenE

Silurian

- o B
odETFU U0

Question Number : 2 Question Id : 9032013805 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The mineral commonly used in pencils is

2YES” d@PN0T T plzo DA
Options:

Pyrite

1. %

5 % Galena



3 » Magnetite

A Graphite

Question Number : 3 Question Id : 9032013806 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following series is not belongs to the Cuddapah system?
& (Bob 08 D 3B 558 F596° T
-
Options :

| «» Nallamalai

Panyam
2.¥

Krishna
3. %

4 = Cheyair

Question Number : 4 Question Id : 9032013807 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main rock type of Deccan Traps is
E58 THos” Sugrdd 4o 20

Options :

1% Granite



) Basalt

5 « Gabbro

4 % Syenite

Question Number : 5 Question Id : 9032013808 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Ptylophyllum is a

8D o8

Options:

Microfossil

Invertebrate fossil
5 % eE3seen

Plant fossil
c.,i?é Berao
3. %

\ertebrate fossil

ot ol -
. HEIBoseen

Question Number : 6 Question Id : 9032013809 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Arzentine is an ore mineral of
¢B08S & ) T

Options :

1 Sllver

5 % Copper

~ Lead
3. %

4% Zinc

Question Number : 7 Question Id : 9032013810 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Murex is a
Soee T8y 2.8

Options :

- Gastropod

Cephalopod

_ Brachiopod
3. %

4% Arthropod



Question Number : 8 Question Id : 9032013811 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one among the following is a litho unit?

% 2ol 05° DO o8I (B&rmo

;
Options :

Series

Group
FSEV S imclouhle

Question Number : 9 Question Id : 9032013812 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The geological age of Arca is
©o?) Q) T 500)
Options :

Cretaceous to Recent

1. %



Jurassic to Recent

- Palaeocene to Recent

Silurian to Recent
4, %

Question Number : 10 Question Id : 9032013813 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hutti in Karnataka is well known for

Som8E°R Hod T8 g

Options :

. » Gold

Diamonds
2_ w

3 % Marble

Manganese
4. %

Question Number : 11 Question Id : 9032013814 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the high rank coal

& (B0l R AL (VPN Jo TP



Options :

1 = Peat

Anthracite
2.9

Lignite
3, #®

Bituminous

Question Number : 12 Question Id : 9032013815 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Emerald is the gem variety of a mineral
D) < pduo GwE) 880

Options :

1 » Beryl

Garnet

2. %

Corundum
3. %

Quartz
4, %

Question Number : 13 Question Id : 9032013816 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Bauxite is an ore mineral of
TB)5 LD WS D
Options :

| « lron

. Aluminum

3 = Copper

4 = Zinc

Question Number : 14 Question Id : 9032013817 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The belemnites are common in the periods

D835 en argrdmore & dorred® Eee)

Options :

| « Jurassic and Cretaceous

~ Cambrian
2. %

3 % Carboniferous and Permian

4 « Triassic



Question Number : 15 Question Id : 9032013818 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The long straight hinge line is characteristic of

PEIS, VOFS ESword Oy Sogy OFR0 SN Bermkn
Options:

1@ Spirifer

- Athyris
Terebratula
3_ W

Productus
4, %

Question Number : 16 Question Id : 9032013819 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The chief raw material of glass industry is

e HOFND THORR Dogy S0k émq;o

Options:

| % Calcite

Talc
2. %

Clay



v Silica

Question Number : 17 Question Id : 9032013820 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Eastern Ghats are famous for

Erty) Sdodoen GRS BRQ

Options :
. Gold

Asbestos

2. %

Limestone

3. #

4 Bauxite

Question Number : 18 Question Id : 9032013821 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who is known as the Father of Stratigraphy
VR HzraTu JSH?

Options :
, » T.HHolland

William Smith
2. ¢



5 % W.King

4 % L.L. Fermor

Question Number : 19 Question Id : 9032013822 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Asbestos deposits of Andhra Pradesh are located at
VOPHTES” D (Frodod® TrETE JZTren BTOW
Options :

- Mangampeta

Pulivendla
"

~ Mailaram
3. %

— Wajrakaroor
4. ®

Question Number : 20 Question Id : 9032013823 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is a equivalent of Kurnool system?

& (308 T 55 HradH derznal
(=4 B g e—

Options :



. Dharwars

Deccan Traps
2. %

Siwaliks
)

v Vindhyans

Question Number : 21 Question Id : 9032013824 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Diamond bearing rocks are

o "
Seren oilord dven

Options :

| Kimberlites

Dolerites

5 « Oranites

Anorthosites
4, ®

Question Number : 22 Question Id : 9032013825 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Bailadila in Chattisgarh is famous for the deposits of
SEDMESTD Dolder & plz JoFeD g
Options :

| % Psilomelene

. Heamatite

Chromite

Galena
4, ®

Question Number : 23 Question Id : 9032013826 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The central part of the echinoid test is called
S8ront Gwd) SR G DEotrD

Options:

Corona
1. %

~ Peristome
2. %

3 % Pygidium

4% Apical disc



Question Number : 24 Question Id : 9032013827 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Coal is formed from

5&;:5"@; &9 S5 iale oSl Vel
Options :

Buried organisms

Clay

S302PeIE0

Buried plant material
PER Yzren

Shells

L B e,
-.J':}DJG—E.JJ

Question Number : 25 Question Id : 9032013828 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Metal content of an ore is called

I S50 TEIND Lo

Options :

1« Tenor

5 % Gangue



5 « Rank

4 % Grade

Question Number : 26 Question Id : 9032013829 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Tandur in Telangana is known for deposits of

Boorrnd R mromd & ATTFOH @G

Options:

Diamonds
1. %

5 Limestone

5 » DBauxite

4 = Copper

Question Number : 27 Question Id : 9032013830 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following is the ore mineral of lead?

& (808 RS° 2B ddo TN FHY

Options :

1 » Magnetite



5 % Pyrite

3 ¥ Galena

Bauxite

Question Number : 28 Question Id : 9032013831 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The shapes of brachiopod shells are

(EPEErErE GnE), S8 oeen udod® Bomron

Options:

| « Circular

5 % Triangular

3 % Ovate

4o Al

Question Number : 29 Question Id : 9032013832 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Lignite-popularly termed as
@ﬁﬁ'ﬁg =3 L_' '545‘ h;\.rmw

Options :
Brown Gold
v

“ Fool's Gold

. Black Gold

. Pink Gold

Question Number : 30 Question Id : 9032013833 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following
& 300 T2 wEHthan

1. Sphalerite a. Copper
VOB =0
2. Magnetite b. Thorium
S @es &oa%o
3. Cuprite c. lron
= B0
4. Monazite d. Zinc
ATRE é-.r B0

Options :



1-c, 2-d, 3-a, 4-b
#

, « 1-d,2-a,3b, 4

5 o 1-d, 2-c, 3-a, 4-b

4 1-c.2-a,3d, 4b

Question Number : 31 Question Id : 9032013834 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Zawar in Rajasthan is known for

Taros R b GRS (Bhe
i [’

Options :

. Gold

Marble
Manganese
3. %
Zinc
v
Question Number : 32 Question Id : 9032013835 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The type area for Cretaceous system is
BBRADT HXY @ o0 Tohd [rosin BH o
> =

Options :
. Srisailam

5 Trichonapoly

.« Spithi

4 = Kutch

Question Number : 33 Question Id : 9032013836 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Cherry red colour streak is the characteristic property of
3 2B Bord Hien & pao AWE) [BIEDS ©Feo

Options :
Malachite
-

5 % Pyrite
v Heamatite

3.

- Magnesite
4. ®

Question Number : 34 Question Id : 9032013837 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is referred as heavyspar?

& Bol RS 0 AT (008 D8R HEEW)

Options:

| » Diamond

, » bBauxite

5 % lopaz

4 Barytes

Question Number : 35 Question Id : 9032013838 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one among the following is not a beach placer deposit ?

& (Bol RS DO &85 (Fros VTHEN
Options :

1 = Zircon

, «» Rutile

5 » Monazite

4 Malachite



Question Number : 36 Question Id : 9032013839 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following is the abrasive mineral

oy s

& (8ol G b ©HES pleo

Options :
1 = lalc

, « DBiotite

5 « Calcite

Corundum

Question Number : 37 Question Id : 9032013840 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Chemical composition of pyrolusite is
Rl T8 SRahS Sozped

Options :

1.4 MnQO-

5 % MHQOS ZHQO

Mﬂqu
3. %



4 % MHQOS

Question Number : 38 Question Id : 9032013841 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Chromite deposits are mostly formed by the process of
(E°30¢5 A5dres (Brrsorr S (HEH troe AB)HEran
Options :

Magmatic Injection
. ©O8EH0

Magmatic dissemination

Laetets)

Residual Concentration

o588 Jol&88es
3. % <

Magmatic segregation
&S Qoen
4. =

Question Number : 39 Question Id : 9032013842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Siwaliks are mostly _ deposits

DOSen Swggorre ——---- JSaren (Beren)

Options :



Aeolian

= 3 é
. a'nwée,

Glacial
PSS
=

Fluviatile

R0
3.4 ¢

Marine
4, ®

Question Number : 40 Question Id : 9032013843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Carat is the term used to refer to the weight of a

88 o HEE0D 2DPD BWIT8 dBITEATSD

Options :

- Pearl

5 @ Diamond

5 % Mercury

~ Gold
4. %



Question Number : 41 Question Id : 9032013844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The volcanic equivalent of gabbro is

rE"S Herdod ondsE8e
Options :

Rhyolite
1. %

5 % Andesite

3 ¢ Basalt

4 w Dolerite

Question Number : 42 Question Id : 9032013845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following rocks is a rudaceous rock?
% (808 30ud® DO HTHEHD do

Options :

| % Limestone

, % Sandstone

3 % ohale

4 Breccia



Question Number : 43 Question Id : 9032013846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which one of the following rocks shows hypidiomorphic texture?
& 800 AS° D B0 AVIPYEETEIHADT0 FrHHO
Options :
_— Lamprophyre

5 @ Granite

3 % Aplite

4 % Dolerite

Question Number : 44 Question Id : 9032013847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The chemical composition of olivine is

wDDT Gwos) DD HoFnedd

Options :

- MgSiOa

5> % Mg FEQSiOB



. » (MgFe);SiOq

MQQS EQOE.

Question Number : 45 Question Id : 9032013848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Garnet crystallizesin ................. Crystal system.

Options:

1 = Monoclinic

Triclinic
2. %
. Tetragonal

AV Cubic

Question Number : 46 Question Id : 9032013849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following minerals is tectosilicate?

& Bol TG Q plwo DY JOES
Options:
| » Epidote



5 Orthoclase

5 % Mica

4% Augite

Question Number : 47 Question Id : 9032013850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Lamellar twinning is the characteristic property of

a’:&a@iééé Gty (Bee ofore Ko elso

Options :

| » Microcline

5 % Calcite

5 % Muscovite

A Plagioclase

Question Number : 48 Question Id : 9032013851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one among the following is the normal class of monocilnic system?
& (Bod TE° DO DEIS 5D P S51768 To050

:J..,'_J =)



Options :
| % Axinite type

, Beryl type

- Galena type

4 Gypsum type

Question Number : 49 Question Id : 9032013852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Hornblende belongsto ................ family..
F*5Zok & Henozrds Todd pleo

Options :
- Amphibole

Pyroxene
2. %

Mica
Feldspar
4, %
Question Number : 50 Question Id : 9032013853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Iceland Spar is a transparent variety of
operol 70 & pluo @Y ;EEGE 880

Options :
_ Siderite
1. %

Beryl

2. %

~ Quartz
3., %

Calcite
g

Question Number : 51 Question Id : 9032013854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following
& (8ol TED mS Lthaw

1.  Natrolite a.
SN

2. Asbestos b.
ot vite)

3. Kyanite g,
S0DSed

4. Muscovite d.

4 13
SRS
—

Bladed

58 8r%

Foliated
[eY

Acicular

ﬁ:va—v;a'né

Fibrous
Sodanod



Options :

1-c, 2-d, 3-a, 4-b
1. ¢

1-d, 2-a, 3-b, 4-c
2. #®

1-d, 2-c, 3-a, 4-b
3. #

1-c, 2-d, 3-b, 4-a
W

Question Number : 52 Question Id : 9032013855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The number of ‘planes of symmetry’ in galena type
KEE® PEsS Sdoderen AR Bodraw

Options :

1% 2

Question Number : 53 Question Id : 9032013856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Number of faces in Tetra hexahedron is
ﬁé&&;m&@@é ————— S0P BOEROD
Options :

12

2'\_/24

Question Number : 54 Question Id : 9032013857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Miller symbol of Tetragonal prism of |l order is

£8P BLSo Tors (Ehsin TwE) b KSosSEH

Options :

o 110

100



Question Number : 55 Question Id : 9032013858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following minerals are isotropic

% (Bod TS° DO J0ii@E o

Options:

1% Hornblende

Sillimanite
2. %

3 v Garnet

4% Quartz

Question Number : 56 Question Id : 9032013859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The plants which indicates the presence of groundwater are described as

4 oo GwE) 628D 3% HTw

Options :

Phreatophytes
1.4

5 % Xerophytes

Halophytes

3. %



4% Hydrophytes

Question Number : 57 Question Id : 9032013860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Magnesium aluminum garnet is

finacH o, e ACHo M)

(=N
Options :

Forsterite

, Pyrope

Fayalite

Spessartine
4, ®

Question Number : 58 Question Id : 9032013861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Dyke is a
s s
Options :

Large igneous body
. V&G @oég&ﬁa 2o



Horizontal intrusive

2 [aroad @oéquﬁa de
2. ® :

Vertical intrusive

Rerd wosdn dov
3.V i

Sausar like intrusive
58 erodd @oégéz 20

Question Number : 59 Question Id : 9032013862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Gypsum is an example of
Ed)ew o8 eurrden

Options :

Argillaceous rock
& 4o

Arenaceos rock
TPeNSEanGy B

Rudaceous rock
HBnooR 4o



Question Number : 60 Question Id : 9032013863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Flat topped seamounts are known as

SEOPI JawlE Y Do BroD ©oird
@ =]

Options:

Mesa
1 % oo

Gauno
e

Guyots
falonvilo]

Cirques

=
4% 000

Question Number : 61 Question Id : 9032013864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Quartzite is formed due to the metamorphism of
588 D 8o SrdrodS (PR TouEaw O SN

Options :
Breccia

=B L
1_%5 @Qdﬂl.ﬁeﬂ



Grit

Sandstone
Sosorom
3. ¢ =

Limestone
oy TEon
4.% =

Question Number : 62 Question Id : 9032013865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An example of silica- oversaturated rock is
DO 08 JodR o Pl

Options:

: Granite
Dunite

3 Dolerite
Diorite

Question Number : 63 Question Id : 9032013866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
A fault in which hanging wall moves up relative to the foot wall is called
FoFE™D wondrd B0 (oo Jond FUHERS Fuforr 28 #0h w0l
Options :

Reverse fault

o T 1 e
- LBED (Podaw

Normal fault
FErdr |PosHw
)

Nappe

=y
=y

Gravity fault
8o S8 S(giodo

Question Number : 64 Question Id : 9032013867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Hypersthene bearing granite is
8RS SONS (RS

Options :
| » Khondalite

5 % Eclogite

3 ¥ Charnockite



4 % Migmatite

Question Number : 65 Question Id : 9032013868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Himalaya mountains are example for
SPIPOdD JoEren o BrEdrdn
Options :

Relict type
H8H o

Fault type
(Fodain 855w

Accumulation type
Qods S50

Fold type
28850

Question Number : 66 Question Id : 9032013869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The P-wave velocities are highest in

2 - 8orre Jifo woSorr S&S* aoenod
Options :

1. %



Mudstone

Sandstone
2. %

3 v Granite

4 % Clay

Question Number : 67 Question Id : 9032013870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A Perthite is an intergrowth of potassic feldspar and

0o i RérR IS Sidy ——---—-—- © ©os88
e & o e

Options :
| » Quartz

, « Calcite

5 « Diotite

, o Albite

Question Number : 68 Question Id : 9032013871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Meanders are formed due to---------action
———————— Brrdo Hod ILEse 28 haron
Options:

River
5 % Wind
- Glacial

— Voleanic
4_ 4

Question Number : 69 Question Id : 9032013872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The line of maximum curvature in a folded surface is called

58278 S0ostD K08 SEEPD =======m-- B0

Options :

Hinge
Evalatitelolabh)
v

Axial plane
widhdeo



Question Number : 70 Question Id : 9032013873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one among the following rocks are example for aquifuge

& (B0l TRE° D0 S FrEdED emrdedn

Options :

1 » Clay

5 @ Granite

; « GCravel

~ Sandstone
4. %

Question Number : 71 Question Id : 9032013874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Undulations found in the upper surface the sedimentary rocks are called

oI35 oo’ Jrhd aBddoind®d Jbi Lrbg —------ SeThilov
Options :

Concretions

oy B
| % TDLSMNHJ

Ripple marks

> S8on rden



Ventifacts

= A
mﬂéo..-“::a‘-
LR

Cross bedding

. &5:5 Dogsain

Question Number : 72 Question Id : 9032013875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which one of the following mineral is an example for pyroelectric
& 8ol 8" A0 2B 05D wreeSe

Options :
Quartz
1. %
Tourmaline
2.
Calcite
3_ E
4w Beryl
Question Number : 73 Question Id : 9032013876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Chromium bearing mica is known as
E50ohS D= da

Options :

Sericite
1. %

Fuchsite
v

Lepidomelane

4% Phologopite

Question Number : 74 Question Id : 9032013877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Thermal expansion and contraction leading to breaking of rocks is called

ﬁgo 5035 TS 00Y D00 $oBPNodsso S0 dow

)
-’

Options:

Chemical weathering

SRS 3Gero
1. %

Mechanical disintegration
airo|&3 DErano
) O

Biological weathering

& Jowol 3Hero

s
o



Rock decomposition
4w S Svlaioeiate

Question Number : 75 Question Id : 9032013878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Pedestal rock topography is an erosional feature of
RERS o grdndraren (B S0b oFire
Options :

Wind action
1. %

River action

3 % Glacial action

Sea action
4. 4

Question Number : 76 Question Id : 9032013879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Younger rock completely surrounded by older rocks is known as

Hthe 80 PP I oos ©S00D Bod ---- otrd
Options :
Outlier
sPiFRde
=

1. %



Syncline
ST

Monocline
B

Inlier

wosddde
4, % =

Question Number : 77 Question Id : 9032013880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

An example of crystal system without planes of symmetry and axis of symmetry
is
ﬁ;.e?:sva}@‘"‘ P Sshderen O Tohargren oD ég_eé%é: BeRsn

Options :
Triclinic
Cubic

Monoclinic

~ Tetragonal
4. ®

Question Number : 78 Question Id : 9032013881 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The longer axis in orthorhombic crystal system is

- au - o - rd
DEIPE HORT TEIT Bl o) ————————— @0t
ey [ .,__,-‘T‘l (=8 L

Options :

Brachy

Clino

Py

me.a&t‘o

Macro
LT

Qrtho axis
a}omﬂgp

Question Number : 79 Question Id : 9032013882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following discontinuities separates the mantle and core
& (8ol 7dS° O DY) NS Erardan HOa Soli¥ shofwind 3% Tkl

Options:

Lehman



Conrad
2. %

Gutenberg
3.¢

. Mohorovicic

Question Number : 80 Question Id : 9032013883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bharchan, crescent-shaped sand dune produced by the action of
So(5508 ©e8o8” oG wrBIrS G [PErso $ol DB HHod
Options :

Volcanoes
1. %

River

, » Wind

Glacier
4, %

Question Number : 81 Question Id : 9032013884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Lunar lake of Maharashtra is formed due to impact of
amwéﬁ& erarS $550) B0 (Perso dod 8Bk

Options :
. Wind

, « Glacial

3 % River

Meteorite

Question Number : 82 Question Id : 9032013885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A basin shaped igneous body is called
2T uEH vnde Srdo

Options :
Batholith

Lopolith
2. %

Phacolith
3, %

AV Laccolith



Question Number : 83 Question Id : 9032013886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The size of clay in sedimentary rocks is

o 20T o & 1 y WAA L
o530 dood” &S vrHe @) BOIrRo

Options :

/16 to 1 mm

> 1/256 mm

1 1
fo — mm
256 16

< 1/256 mm
4.

Question Number : 84 Question Id : 9032013887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The radius of the Earth is

=
2P0 @E) Teaedo
) LY

'

Options :
- 6371 km

, , B756 Km



. 4188Km

5456 Km

Question Number : 85 Question Id : 9032013888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Khondalite mainly consists of
FToUBE (PorLsnre 500 Boénold

Options :

» Sillimanite and Garnet
- Kyanite and Augite

Hypersthene and Biotite
3. %

Olivine and epidote

Question Number : 86 Question Id : 9032013889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In the underground, the upper surface of the zone of water saturation is called

ﬁwrﬁéﬁo@‘, noagg; ooy A Serd) Lotrd.

Options :



. Spring
Water table

Contour

Intersection

Question Number : 87 Question Id : 9032013890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A feldspar rich sandstone is called as
3:-%’-%;,5 @58 a05Trand ot

Options:

- Arkose

5 % Mudstone

Greywacke

Grit

Question Number : 88 Question Id : 9032013891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In ‘Uniaxial’ crystals principal optic section is parallel to
28 g n;.eﬁsvw"' gy @G0 ~=mmmmmn o3R8 Jarosdorr wotmol

Options:

| % X -axis

B -axis
A -axis
4

C -axis

Question Number : 89 Question Id : 9032013892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The silicon : oxygen ratio in double chain silicate structure is

= = ey & o L
&rgoseed” 1O 1 88 iEs VHE---———--TF ©oLNod
[-%] ot —lt

Options :

_2:h
1, %



Question Number : 90 Question Id : 9032013893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In recumbent fold the axial plane is essentially

S0 Q‘%&@i‘ ©s Jiodeo=————— ™ &aoénol

Options :

Inclined
IR

Horizontal
ge‘iéef HarossSorr

Rounded
roolorr

Vertical
Qe

Question Number : 91 Question Id : 9032013894 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Gneisses derived from igneous rocks are called
oMdoe Dok A5G0 FVeD ©otrd
Options :
Ortho gneiss

1. %

Para gneiss



Migmatite

Mylonite

4, %

Question Number : 92 Question Id : 9032013895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Breccia indicate the presence of
B8\ DAY JreDoHne

Options :

Fault zones

,  Folds

5 » Joints

Orogeny
4, %

Question Number : 93 Question Id : 9032013896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Unconformity indicates

DHECH Do JBrediiol

Options :



Deposition

Local upliftment

Orogeny

Non-deposition

Question Number : 94 Question Id : 9032013897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The strike and dip of the beds are measured with the help of
©DPGo DOAW [$8S --------- SOEAFN0Y SRl
Options:

Pichometer

Goniometer

Clinometer
3. ¢

Gravimeter
4, %

Question Number : 95 Question Id : 9032013898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

In chevron fold hinges are

5'B0H H0S° &S noen ——-——-- =Yolclahy
Options :

1 » Smooth

5 % Rounded

Straight

Sharp and Angular
4.

Question Number : 96 Question Id : 9032013899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Graben and horst related to
98 Do SHBAm @o%‘s%é 3¢
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Options :
Fold

1. %

5 % Joint

Glacier

Fault



Question Number : 97 Question Id : 9032013900 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Water that is formed at the time of consolidation of magma is called
Sy Teoe OYG 200 —--—————-- (Slolilow
Options :

Connate

Juvenile
2.

Meteoric

Capillary

4, #

Question Number : 98 Question Id : 9032013901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sillimanite is a polymorph of
RODHIL T To¥) aEEHE 0

Options :

- Kyanite

Calcite



Gypsum

Bauxite

Question Number : 99 Question Id : 9032013902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The Hardness of topaz is
FarE QwE) SoBiE

Options :

L% 9

Question Number : 100 Question Id : 9032013903 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Cleavage is absent |

DTS00 LS BDOSD

Options :
- Quartz



Calcite

. Albite

Microcline
4, %



